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I. Выберите правильный вариант! 
1с  2в   3с  4с  5с  6в  
								         2Х 6 = 12 баллов

II. Подберите пары мужского и женского рода.
1d   2e   3g    4f   5d    6h    7c   8a
									            8 баллов

Чтение

	1.
	richtig
	falsch
	6.
	richtig
	falsch

	2.
	richtig
	falsch
	7.
	richtig
	falsch

	3.
	richtig
	falsch
	8.
	richtig
	falsch

	4.
	richtig
	falsch
	9.
	richtig
	falsch

	5.
	richtig
	falsch
	10.
	richtig
	falsch


									
2Х 10 = 20 баллов
IV. Landeskunde       Wie heißen diese Feiertage?
1. Nikolaustag     
2. Weihnachten      
3. Ostern
										    3 балла


Аудирование

Задание 1. 

	Sprecherin 1
	Sprecherin 2
	Sprecher 3
	Sprecherin 4
	Sprecher 5

	D
	A
	E
	B
	C


											5 баллов
Задание 2.
	1
	JA
	NEIN

	2
	JA
	NEIN

	3
	JA
	NEIN

	4
	JA
	NEIN

	5
	JA
	NEIN


											5 баллов
ИТОГО: 53 балла
